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Answer any five questions 5x5=25
1. Why is peroxide effect observed for the addition of HBr but not for HCI or HI?
2. Alkaline hydrolysis of benzonitrile affords a salt of benzoic acid that of 2,6-dimethyl
benzonitrile gives the corresponding amide. Explain.
3. Convert Phenol to Salicylic acid.
4. Arrange the following compounds in increasing order of reactivity towards nucleophilic
substitution reaction - explain.
(a) (b) ©
5. ldentify A, B, C and D in the following scheme.
(i) Sn/HCI A Br,/CH3CO,H H3O@ c (i) NaNO,/HCI b
ON—  H—Chs (i) AGO B (i) EtOH/A
6. In Arndt-Eistert synthesis two equivalents of diazomethane is used —explain the
statement showing the mechanism of the reaction.
7. How will you prepare phenol from benzene via cumene? Give mechanism.
8. Fries rearrangement is both intermolecular and intramolecular. Give supporting

evidence in favour of this statement.



